. com

0553

B
N
.

o ey
R R Lo . /
~ o //

.

d I’l/d
N /4,
B P j
o .eﬂ \

TM 9-2320-272-24P-2

MI \
- - o~ ’
-zl /”NMH\‘\I \ Qﬁﬂa’/%’:ﬂ/ \ \

is item(5) on diagram Avail able at wwww. oshkoshequi prment

part

/
WHU-m%&...jV / =

\
I/IDL%l@!lmllb

Veameonaw

Current

. com

RO569DAA

0553-2
is item(5) on diagram Available at www. oshkoshequi pnent

Figure 552. Windshield Wiper Arm, Blade, and Motor Assembly (New Style).

part

Current



Current part is item(5) on diagram Available at ww. oshkoshequi pnent. com

TM 9-2320-272-24P-2 0553
@ &) ®3) 4) ®) (6) )
ITEM DESCRIPTION AND USABLE ON
NO. SMR CODE NSN CAGEC  PART NUMBER CODE (UOC) QTY

GROUP 2202 ACCESSORY ITEMS.

[FIG_552] WINDSHIELD WIPER ARM,
BLADE, AND MOTOR ASSEMBLY
(NEW STYLE).

1 PAFZZ 2540-00-481-3637 60703 M874-44EC BLADE,WINDSHIELD WI
UOC: DAC,DAD,DAE,DAF,DAG,DA
H,DAJ,DAL,DAW,DAX,V14,V15V16,
V17,v18,V19,v20,V21,V22 VV24,ZAA,
ZAB,ZAC,ZAD,ZAE,ZAF,ZAG,ZAH,Z
AJZAL .. 2

2 PAFZZ 5305-00-054-6655 96906 MS51957-31 . SCREW,MACHINE  6-32 X 9/16
UOC: DAC,DAD,DAE,DAF,DAG,DA
H,DAJ,DAL,DAW,DAX,V14,V15,V16,
V17,V18,V19,V20,V21,V22 \VV24,ZAA,
ZAB,ZAC,ZAD,ZAE,ZAF,ZAG,ZAH,Z
AJ,ZAL oo 2

3 PAFZz 5310-00-176-6341 96906 MS17830-06C . NUT,SELF-LOCKING,HE = 6-32
UOC: DAC,DAD,DAE,DAF,DAG,DA
H,DAJ,DAL,DAW,DAX,V14,V15,V16,
V17,v18,V19,v20,V21,V22 V24, ZAA,
ZAB,ZAC,ZAD,ZAE,ZAF,ZAG,ZAH,Z
AJZAL e 2

4 PAFZZ 2540-01-123-6823 19207 11669624 ARM,WINDSHIELD WIPE
UOC: DAC,DAD,DAE,DAF,DAG,DA
H,DAJ,DAL,DAW,DAX,V14,V15V16,
V17,V18,V19,V20,V21,V22,V24,ZAA,
ZAB,ZAC,ZAD,ZAE,ZAF,ZAG,ZAH,Z
AJZAL e 2

5 PAFZZ 2540-01-310-4854 82484 GS-2523 MOTOR,WINDSHIELD WI PART
OF KIT P/N 5705690
UOC: DAC,DAD,DAE,DAF,DAG,DA
H,DAJ,DAL,DAW,DAX,V14,V15V16,
V17,v18,V19,v21,v24,7AB,ZAC,ZAD
JZAE,ZAF,ZAG,ZAH,ZAJ,ZAL ........c.oeeeee. 2

6 PAFZZ 5310-01-204-2002 82484 91522-J . NUT,PLAIN,HEXAGON  5/16-24
UOC: DAC,DAD,DAE,DAF,DAG,DA
H,DAJ,DAL,DAW,DAX,V14,V15V16,
V17,v18,V19,V20,V21,V22 V24, ZAA,
ZAB,ZAC,ZAD,ZAE,ZAF,ZAG,ZAH,Z
AJZAL ..o 2

7 PAFZZ 5310-00-167-0721 80205 MS35333-41 . WASHER,LOCK  5/16
UOC: DAC,DAD,DAE,DAF,DAG,DA
H,DAJ,DAL,DAW,DAX,V14,V15V16,
V17,V18,V19,V20,V21,V22 \VV24,ZAA,
ZAB,ZAC,ZAD,ZAE,ZAF,ZAG,ZAH,Z
AJ,ZAL oo 2

0553-3
Current part is item(5) on diagram Avail able at ww. oshkoshequi pnent. com



	RPSTL_FIGURES
	RPSTL_FIGURE 552

	PAGES
	PAGE 0553-2


